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Hffr & D BfE EERZEM) ZEREE (%)
FERME 70,600 60%
HE HEE 66,900 50%
F {E A 58,600 55%
FEm (A) <51,200> 60%
HEm (B) 41,600 60%
FEm (C) <32,800> 60%
Hirg <29,000> 60%
QREXETE
H & D iE REERZEM) ZEF R EE (%)
BI= FEHED 48,000 60%
B = Am 42,200 55%
B = B 4 32,400 60%
HI=BNF 31,100 60%
BEFHE 25,400 65%
QfinzE - MR %
H & DBiE REERZEM) ZEHREE %)
1Rt 55,300 40%
BiEt 42,200 55%
me 39,300 65%
e F <31,800> 65%
iRt t i m 31,400 50%
@B X 75
H & OBiE REERZEM) FNEXREE (%)
h 5 R & HR A 50,100 55%
FEMEHRES 36,800 55%
hERHEE 27,200 55%
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